2 :2024.11.29

#Hi5E 1 2024. 09. 20

- _ . BRI BlET L 7 o h—EERE :
Rt - X SL-L40ORTB (BFZR (44T R— F1kRsY) = o & 112
BEE EEES
X
\
+200mm
—200mm
P
+200mm
100 RHT#HI YT S5 R W=400 100 —200mm
#E T 1h400
RATL—LW
St C-60x30x1. 6t /
i LESKH#THIE) ‘ T i i = ‘ +200mm
432 (438 (LGSKH T3 T 1 m {r i S 1 —200mm
‘ I il il ‘
i
®Ti __
ERV200 o *
,,,,, I [
AXRFHEFE B n
FRFHZER (Mx16) FATIRER
(M4 x 16)
$IMT 45 R E R (D6, M4 16) 2E R (x5
165
200

 CEAICHhI o THERSR!

AR — X FHEER DT,
BIRREEICE Y fobd - R LhFORMNTEET AL
ABMREICEREI S VEL A,




XH# - XH#

SL-L400RTB (¥r#& 3 I+F1T R— F244BEY)

2R BT A

EE

7 oh—EEMRE :
@<= 560 mm

S=1:2

2 :2024.11.29

#Hi5E 1 2024. 09. 20

#52(138 (LGS Tt T

100 ZHTFHY UT SR W=400 100
400
St 0-60x30x 1. 6t BATL—LW
(GSKHATIRIE)
4 H N i1
Wl o i T
f uiing ] —
i
ERV200 b
( % J E,,,,
<
AXRFHEEFE N n
FRTHAER WX IE) InTEAEA
ERIFX (M4 x 16)

$HMT 4 R EX (D6. M4 x 16)

FARAFHRER MAx16)
165

17.5

200

 CEAICHhI o THERSR!

AR — X FHEER DT,
BIRREEICE Y fobd - R LhFORMNTEET AL
ABMREICEREI S VEL A,

REE

AIHE

X
g
+200mm
—200mm

~+200mm
—200mm

58

+200mm
Z | —200mm

R—KFEIZkS

1

12.
1

1

©[3|wo

a
2.5 5
2.5 5
9.5 5
9.5 5




2R BT A

7 oh—EEMRE :

S=1:2

2 :2024.11.29

#Hi5E 1 2024. 09. 20

XH - XH SL-L400RTB (B5#=I+HE1T R— F1#ELY) <
& . @< 560 mm
BEE EEES
X
\
+200mm
—200mm
Pt
+200mm
100 ZHTFHY UT SR W40 100 —200mm
[ T #6400
+200mm
N fi—(L6s I St 0-60x30x 1.6t j i ! il S il 200m
M—%LX (GSRATHIH) j Ll i i il BATL—Al
1232 (438 (LGS I fi ii
HiR %2 738 (GSKATHTE) - & ¥ L
- L J ERV200 - L J =
= A e ﬂ ]
AR ETE B N
B8 T TATIRER (MXI6) FRIDRER
ER#E 2. (M4 x 16)
#0574 X E X (06 M4 x 16) 2R A 16 ER# 2
165
200

 CEAICHhI o THERSR!

AR — X FHEER DT,

BIRREEICE Y fobd - R LhFORMNTEET AL
ABMREICEREI S VEL A,




2 :2024.11.29

#Hi5E 1 2024. 09. 20

. = s 1 R - BiE T L 7 v Hh—EEMRE
R - R SL-L400RTB (¥r# = TEIT R— F24KB5Y) o E@f 60 = 1:9
REE AIHE
X
\
+200mm
W —200mm
>
+200mm
100 R TFHY YT 5 VR W40 100 —200mn
/j%ﬂﬂﬂ@
U St C-60x 30 1. 6t
N H— (LGS T &m%#?%&%) (T T i il s : 5 +200mm
BiE2 1138 (LGS I Rl o ! ht S i AT L—LN Z 500m
= [ uiing T ] =
8 L J ERV200 o L J =
= e R W v & | U
) - - < [
- AKHEETE \
(GSRFTIELE)
FATHRER (WMx16) SREHZER
ERipz  (M4x16)

$HMT 4 R EX (D6. M4 x 16)

FARAFHRER MAx16)
165

200

 CEAICHhI o THERSR!

AR — X FHEER DT,

BIRREEICE Y fobd - R LhFORMNTEET AL
ABMREICEREI S VEL A,

—_

—_—

—_

©o|3|o
Slen|9en




	シートとビュー
	66415-l400rtb-平行1
	66415-l400rtb-平行2
	66415-l400rtb-直行1
	66415-l400rtb-直行2


